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CHol: olete | (et @ e)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H H &2
==d 232,310 240,536 A8,226
HEMSHAH (BESH) 103,521 111,747 A8,226
olad 2| 46,785 55,011 N8,226
ol 2| 46,785 55,011 A8,226

101 1244 46,785 55,011 A8,226
01 84 46,785 55,011 N8,226
CESnF=Y=Ea= 46,785 55,011 A8,226
o6 10,6822 *5% 30 Al 2H* 122 19,228 19,836 A 608
o732 9,649%1 x3H *30A| 2+ + 122 10,421 13,439 23,018
o882 8,663 x4% x30A| 2+ <122 12,475 16,086 A3,611
o932 7,830 x 1 «30A| 2+ + 128 2,819 3,636 AB817
oXHRIMHA 48,454, 0002 3. 8% 1,842 2,014 172
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e BB EX CERED
SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2
HES 344,940 354,607 29,667
HYRIZH(EES) 118,971 128,638 A9,667
el 2| 52,771 62,438 A9,667
A2 52,771 62,438 A9,667

101 @14l 52,771 62,438 A9,667
01 2= 52,771 62,438 A9,667
oxzu22+¥ 52,771 62,438 A9,667
°6= 10,331 & «2H «30Al 2t + 128 7,439 9,918 AN2,479
S¥e= 90,3323 6 *x35A1 2t 12& 23,517 26,877 A 3,360
°8= 8,378 4 H+35A] 2t 123 14,076 16,086 22,010
=9 7,5733 2 x30A| 2t+ 128 5,453 7,271 21,818
oXRMH 60, 152,000& «3.8% 2,286 2,286 0




